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Q.1 The region represented by {z = x + iy  C : |z| – Re(z)  1} is also given by the inequality:
{z = x + iy  C : |z| – Re(z)  1}
{z = x + iy  C : |z| – Re(z)  1} ds ) kj k fu: fi r  {ks=k] fuEu vl fedk ) kj k fn; k x; k gS&

(1) y2  2 






 
2
1x (2) y2  x + 

2
1

(3) y2  2(x + 1) (4) y2  x + 1

Sol. 1
{z = x + iy  c : |z| –Re(z)  1}

|z| = 2 2x y

Re(z) = x
|z| – Re(z)  1

 2 2x y – x  1

 2 2x y  1 + x

x2 + y2  1 + x2 + 2x

y2  2 
1
2

x 
 

 

Q.2 The negation of the Boolean expression p  (~p  q) is equivalent to:
cwfy; u O; at d p  (~p  q) dh fu"ks/ku (negation) fuEu ds cj kcj  gS&
(1) p  ~q (2) ~p  ~q (3) ~p  q (4) ~p  ~q

Sol. 4
p  (~p  q)
(p  ~ p) (p q)
t (p q)
p  q
~ (p ~ p q)) = ~ (p q)
= (~ p) (~ q)



Q.3 The general solution of the differential equation 2222 yxyx1   + xy
dx
dy

 = 0 is:

(where C is a constant of integration)

vody l ehdj .k  2222 yxyx1   + xy
dx
dy

 = 0 dk O; ki d gy gksxk :

(t gka C l ekdyu dk , d fu; r kad gS)

(1) 2y1   + 2x1   = 
2
1

loge 

















1x1

1–x1
2

2

 + C

(2) 2y1   – 2x1   = 
2
1

loge 

















1x1

1–x1
2

2

 + C

(3) 2y1   + 2x1   = 
2
1

loge 

















1–x1

1x1
2

2

 + C

(4) 2y1   – 2x1   = 
2
1

loge 

















1–x1

1x1
2

2

 + C

Sol. 3

2222 yxyx1   + xy
dx
dy

 = 0

2 21 1 0dy( x )( y ) xy
dx

   

21( x )dx
x

 = – 21

y

y dy

Integrate the equation

21 x
x


 dx = – 21

y

y
 dy

1 + x2 = t2 1 + y2 = z2

2xdx = 2tdt

dx = 
t
x

dt 2ydy = 2zdz

2 1
t.tdt zdx–

zt –
 



2

2
1 1

1
t – dt

t –


 = – z + c

2
11

1
dt

t –
  dt = – z + c

t + 
1
2

ln 
1
1

t –
t

 
  

= – z + c

2
2

2

1 1 11
2 1 1

x –x ln
x

   
   

= – 21 y c 

2 2 11 1
2

y x    ln 
2

2

1 1

1 1

x

x

   
   

+ c

Q.4 Let L1 be a tangent to the parabola y2 = 4(x + 1) and L2 be a tangent to the parabola
y2 = 8(x + 2) such that L1 and L2 intersect at right angles. Then L1 and L2 meet on the straight
line:
ekuk L1 i j oy;  y2 = 4(x + 1) dh , d Li ' kZ j s[ kk gS] r Fkk L2 i j oy;   y2 = 8(x + 2) dh , d Li ' kZj s[ kk gS r kfd L1 r Fkk L2

l edks.k i j  i zfr PNsn dj r h gSA r c L1 r Fkk L2 fuEu l j y  j s[ kk i j  feyr h gSA
(1) x + 2y = 0 (2) x + 2 = 0 (3) 2x + 1 = 0 (4) x + 3 = 0

Sol. 4
Let t1 tangent of y2 = 4(x + 1)
L1 : t1y = (x + 1) + t12 .......(i)
and t2 tangent of y2 = 8 (x + 2)
L2 : t2y = (x + 2) + 2 t22

L1  L2

1 2

1 1.
t t = –1

t1t2 = –1
t2(i) – t1 (ii)
t1t2y = t2 (x + 1) + t2. t1

2

t1t2y = t1 (x + 2) + 2t2
2. t1

–      –            –
_______________________
(t2–t1) x + (t2–2t1) + t2t1(t1–2t2) = 0
(t2 – t1) x + (t2 – 2t1) – (t1 – 2t2) = 0
(t2 – t1) x + 3t2 – 3t1 = 0
 x + 3 = 0



Q.5 The area (in sq. units) of the region A = {(x, y): |x| + |y|  1, 2y2  |x|}
{ks=k  A = {(x, y): |x| + |y|  1, 2y2  |x|} dk {ks=kQy ¼oxZ bdkbZ esa ½ gksxk&

(1) 
6
1

(2) 
6
5

(3) 
3
1

(4) 
6
7

Sol. 2

(–1/2, 1/2)
(1/2, 1/2)

(1/2, –1/2)(–1/2,–1/2)

(0, 1)

(–1,0)
(1,0)

(0,–1)

Total area = 

1 2

0

4 1
2

/
x( – x)– dx

  
      



= 4 
2 3 2 1 21

2 3 2 02

/ /x xx– –
/

 
 
  

= 4 

3 21 1 2 1
2 8 3 2

/

– –
       

=  
5 54

24 6
 

Q.6 The shortest distance between the lines 
0

1–x
 = 

1–
1y 

 = 
1
z

 and x + y + z + 1 = 0,

2x – y + z + 3 = 0 is:

j s[ kk 
0

1–x
 = 

1–
1y 

 = 
1
z

 r Fkk x + y + z + 1 = 0, 2x – y + z + 3 = 0 ds chp U; wur e nwj h gS&

(1) 1 (2) 2
1

(3) 3
1

(4) 
2
1

Sol. 3
Plane through line of intersection is
x + y + z + 1 +  (2x –y + z + 3) = 0
It should be parallel to given line
0(1 + 2) - 1(1 - ) + 1(1 + ) = 0  = 0
Plane: x + y + z + 1 = 0
Shortest distance of (1, –1, 0) from this plane

= 2 2 2

1 1 0 1 1
31 1 1

| – | 


 



Q.7 Let a, b, c, d and p be any non zero dist inct real numbers such that
(a2 + b2 + c2)p2 – 2(ab + bc + cd)p + (b2 + c2 + d2) = 0. Then:
(1) a, c, p are in G.P. (2) a, b, c, d are in G.P.
(3) a, b, c, d are in A.P. (4) a, c, p are in A.P.
ekuk a, b, c, d r Fkk p dksbZ v' kqU;  fHkUu&fHkUu okLr fod l a[ ; k,  bl  i zdkj  gS fd (a2 + b2 + c2)p2 – 2(ab + bc + cd)p
+ (b2 + c2 + d2) = 0 gS] r c
(1) a, c, p xq.kksr j  Js.kh esa gS (2) a, b, c, d xq.kksr j  Js.kh esa gS

(3) a, b, c, d l ekUr j  Js.kh esa gS (4) a, c, p l ekUr j  Js.kh esa gS
Sol. 2

(a2 + b2 + c2)p2 - 2 (ab + bc + cd)p + (b2 + c2 + d2) = 0
(a2p2 - 2abp + b2] + [b2p2 - 2bcp + c2] + [ c2p2 - 2cdp + d2] = 0
(ap - b)2 + (bp - c)2 + (cp - d)2 = 0

ap = b
b c d p
a b c
  

bp = c
cp = d a, b, c, d are in G.P.

Q.8 Two families with three members each and one family with four members are to be seated in a row.
In how many ways can they be seated so that the same family members are not separated?
r hu l nL; ksa okys i zR; sd nks i fj okj  r Fkk pkj  l nL; ksa okys , d i fj okj  dks , d i afDr  esa fcBk; k t kuk gS mUgsa fdr us r fj dks l s fcBk; k

t k l dr k gS r kfd , d gh i fj okj  ds l nL;  vyx uk gks \
(1) 2! 3! 4! (2) (3!)3(4!) (3) 3! (4!)3 (4) (3!)2(4!)

Sol. 2
F1  3 members
F2  3 members
F3  4 members
No. of ways can they be seated so that the same family members are not separated
= 3!×3!×3!×4!= (3!)3. 4!

Q.9 The values of  and µ for which the system of linear equations
x + y + z = 2
x + 2y + 3z = 5
x + 3y + z = µ
has infinitely many solutions are, respectively:
(1) 6 and 8 (2) 5 and 8 (3) 5 and 7 (4) 4 and 9
r Fkk µ  ds eku] ft l ds fy ; s j sf[ k;  l ehdj .k fudk;
x + y + z = 2
x + 2y + 3z = 5
x + 3y + z = µ
vuUr  dbZ gy j [ kr s gS Øe' k% gS&

(1) 6 r Fkk 8 (2) 5 r Fkk 8 (3) 5 r Fkk 7 (4) 4 r Fkk 9



Sol. 2
x + y + z = 2
x + 2y + 3z = 5
x + 3y + z = µ
has infinitely many solutions

 = 

1 1 1
1 2 3
1 3 

= 0

R2  R2 – R1
R3  R3 – R1

1 1 1
0 1 2
0 2 1–

= 0

( –1–4) = 0
 = 5

3 = 

1 1 2
1 2 5
1 3 µ

= 0

R2  R2 – R1
R3  R3 – R1

1 1 2
0 1 3
0 2 2µ–

= 0

(µ – 2–6) = 0
 µ = 8
 = 5, µ = 8

Q.10 Let m and M be respectively the minimum and maximum values of

x2sin1xsinxcos
x2sinxsinxcos1
x2sinxsin1xcos

22

22

22






Then the ordered pair (m, M) is equal to:

ekuk m r Fkk M ] 
x2sin1xsinxcos

x2sinxsinxcos1
x2sinxsin1xcos

22

22

22






ds Øe' k% U; wur e r Fkk vf/kdr e eku gS] r c Øfer  ; qXe (m, M)  cj kcj  gS&
(1) (–3, –1) (2) (–4, –1) (3) (1, 3) (4) (–3, 3)



Sol. 1

x2sin1xsinxcos
x2sinxsinxcos1
x2sinxsin1xcos

22

22

22






R1  R1 – R2 , R3  R3 – R2

2 2

1 1 0

1 2
1 0 1

–

cos x sin x sin x
–



 –1(sin2x) –1(1 + cos2x + sin2x)
 –sin2x –cos2x –1– sin2x
= –2–sin2x
 minimum value when sin2x = 1
m = –2–1 = –3
 Maximum value when sin2x = –1
(m, M) = (–3, –1)

Q.11 A ray of light coming from the point (2, 32 ) is incident at an angle 30º on the line x = 1 at the
point A. The ray gets reflected on the line x = 1 and meets x-axis at the point B. Then, the line AB
passes through the point:

fcUnq (2, 32 ) l s vkr h gqbZ , d i zdk' k dh fdj .k fcUnq A i j  x = 1 j s[ kk i j  , d 30° ds dks.k i j  vki fr r  gksr h gS] fdj .k j s[ kk

x = 1 i j  i j kofr Zr  gksr h gS r Fkk fcUnq B i j  x-v{k i j  feyr h gS r c j s[ kk AB fuEu fcUnw l s xqt j r h gS&

(1) (4, – 3 ) (2) 








3
1– ,3 (3) (3, – 3 ) (4) 











2
3– ,4

Sol. 3

60° 120°
30º

30º
(2,2 3)

B

x = 1

O

A

P'(0,2 3)

Equation of P'B  y –2 3 = tan 120° (x – 0)

3 x + y = 2 3

(3, – 3 ) satisfy the line



Q.12 Out of 11 consecutive natural numbers if three numbers are selected at random
(without repetition), then the probability that they are in A.P. with positive common difference, is:
11 Øekxr  i zkd r̀  l a[ ; kvksa es l s ; fn r hu l a[ ; k; s ; knf̀PNd : i  l s pquh t kr h gS ¼fcuk i quj kò̀`̀̀̀r h ds½ r c og i zkf; dr k fd os

/kukRed l koZ var j  ds l kFk l ekUr j  Js.kh es gS] gksxh&

(1) 
99
10

(2) 
33
5

(3) 
101
15

(4) 
101
5

Sol. 2
Case-1
E, O, E, O, E, O, E, O, E, O, E
2b = a + c  Even
 Both a and c should be either even or odd.

P = 
6 5

2 2
11

3

5
33

C C
C




Case -2
O, E, O, E, O, E, O, E, O, E, O

P = 
5 6

2 2
11

3

5
33

C C
C




Total probability = 
1 5 1 5 5
2 33 2 33 33
   

Q.13 If f(x + y) = f(x) f(y) and 
x 1

f(x) 2




 , x, yN, where N is the set of all natural number, then the

value of 
f(4)
f(2)  is :

; fn  f(x + y) = f(x) f(y) r Fkk 
x 1

f(x) 2




 , x, yN gS] t gka N l Hkh i zkd r̀  l a[ ; kvksa dk l eqY;  gS] r c 
f(4)
f(2)  dk eku gS&

(1) 
2
3

(2) 
1
9

(3) 
1
3

(4) 
4
9

Sol. 4
f(x + y) = f(x) f(y)

* Put x = 1, y = 1
f(2) = (f(1))2

* Put x = 2, y = 1
f(3) = f(2). f(1) = f((1))3

* Put x = 2, y = 2
f(4) = f((2))2 = f((1))4

f(n) = (f(1))n



x 1

f(x)



  = f(1) + f(2) + f(3) + ....... = 2

  f(1) + f((1))2 + f((1))3.......= 2

1
1 1

f( )
– f( ) = 2

f(1) = 2/3

f(2) = 
22

3
 
 
 

, f(4) = 
42

3
 
 
 

4

2
4 2 3 4
2 92 3

f( ) ( / )
f( ) ( / )

 

Q.14 If {p} denotes the fractional part of the number p, then 
2003
8

 
 
 

, is equal to :

; fn {p} ] l a[ ; k p ds fHkUukRed Hkkx dks i znf' kZr  dj r k gS] r c 
2003
8

 
 
 

 cj kcj  gS&

(1) 
5
8

(2) 
1
8

(3) 
7
8

(4) 
3
8

Sol. 2

200 100 1003 9 8 1
8 8 8

( )                
          

100 100 100 99 100 2 98 100 100
0 1 2 1001 8 1 8 1 8

8
C C ( ) C ( ) ... C     

 
  

= 
100 100

01 8
8

C k  
 
  

= 
1 8

8
k 

 
 

= 
1
8

k 
 

 
KI

= 
1
8



Q.15 Which of the following points lies on the locus of the foot of perpedicular drawn upon any tangent

to the ellipse, 
2x

4
+

2y
2

= 1 from any of its foci ?

nh?kZòr  
2x

4
+

2y
2

= 1 i j  bl dh fdl h Hkh ukfHk; ksa l s bl dh fdl h Li ' kZ j s[ kk ds mi j  [ khps x; s yEc ds i kn ds fcUnq i j  fLFkr  fuEu

fcUnq gS] gksxkA

(1) (–1, 3 ) (2) (–2, 3 ) (3) (–1, 2 ) (4) (1, 2)
Sol. 4

Let foot of perpendicular is (h,k)

2 2

1 (
4 2
 

x y
 Given $)$

2 1a 2, b 2,e 1
4 2

    

 Focus (ae,0) ( 2,0)
Equation of tangent

2 2 2  y mx a m b

24 2  y mx m

Passes throguh (h,k) 2 2( ) 4 2  k mh m
line perpendicular to tangent will have slope

1


m

10 ( 2)   y x
m

my x 2  
2(h mk) 2 



Add equaiton (1) and (2)      2 2 2 2 2k 1 m h 1 m 4 1 m    

2 2 4 h k
2 2 4 x y  (Auxilary circle)

( 1, 3)   lies on the locus.

Q.16 x 1
lim


2(x 1) 2

0
t cos(t )dt

(x 1)sin(x 1)

 
 
   
 



(1) is equal to 1 (2) is equal to 
1
2

(3) does not xist (4) is equal to –
1
2

x 1
lim


2(x 1) 2

0
t cos(t )dt

(x 1)sin(x 1)

 
 
   
 



(1) 1 ds cj kcj  gS (2) 
1
2

 ds cj kcj  gS (3) fo| eku ugh gS (4) –
1
2

 ds cj kcj  gS

Sol Bouns

x 1
lim


2(x 1) 2

0
t cos(t )dt

(x 1)sin(x 1)

 
 
   
 



Using L-Hopital rule
2 4

1

2( 1) ( 1) cos( 1) 0 0lim
( 1) cos( 1) sin( 1) 0

              x

x x x
x x x

3 4

1

2( 1) cos( 1)lim
sin( 1)( 1) cos( 1)

( 1)


  


     

x

x x
xx x

x

2 4

1

2( 1) cos( 1)lim
sin( 1)( 1) cos( 1)

( 1)


 


     

x

x x
xx x

x
2 4

1

2( 1) cos( 1)lim sin( 1)cos( 1)
( 1)



 


 


x

x x
xx

x



on taking limit

0 0
1 1

 


Q.17 If 
n

i
i 1

(x a) n


  and
n

2
i

i 1

(x a) na


  ,  (n, a > 1) then the standard deviation of n

observations x1, x2, ..., xn is :

; fn 
n

i
i 1

(x a) n


   r Fkk 
n

2
i

i 1

(x a) na


  , (n, a > 1) gS] r c n i zs{k.kksa x1, x2, ..., xn dk ekud fopyu gS&

(1) n a 1 (2) na 1 (3) a – 1 (4) a 1
Sol. 4

S.D. =  
  22

ii x – a(x – a)
–

n n

 
 
 
 

= 
2

na n–
n n

   
   
   

= 1a–

Q.18 If  and  be two roots of the equation x2 – 64x + 256 = 0. Then the value of
1/83

5

 
  

+ 
1/83

5

 
 
 

 is :

; fn r Fkk l ehdj .k x2 – 64x + 256 = 0 ds nks ewy gSA r c 

1/83

5

 
  

+ 
1/83

5

 
 
 

 dk eku gS&

(1) 1 (2) 3 (3) 2 (4) 4
Sol. 3

x2 – 64 x + 256 = 0
 +  = 64
 =256

1 8 1 83 3

5 5

/ /
    

          

= 5 8/( )
  

 = 5 8
64

256 /( ) = 
64
32  = 2



Q.19 The position of a moving car at time t is given by f(t) = at2 + bt + c, t > 0, where a, b and c are real
numbers greater than 1. Then the average speed of the car over the time interval [t1, t2] is
attained at the point :
l e;  t i j  , d xfr eku dkj  dh fLFkfr  f(t) = at2 + bt + c, t > 0 ) kj k nh xbZ gS t gka a, b r Fkk c ] 1 l s vf/kd okLr fod
l a[ ; k, sa gSA r c l e;  var j ky [t1, t2] i j  dkj  dh vkSl r  pky fuEu fcUnw i j  feyr h gS] gksxk&
(1) (t1 + t2)/ 2 (2) 2a(t1 + t2) + b (3) (t2– t1)/2 (4) a(t2– t1) + b

Sol. 1

f'(t) = Vav = 2 1

2 1

f(t ) – f(t )
t – t

= 
2 2
2 1 2 1

2 1

a(t – t ) b(t – t )
t – t



= a(t1 + t2) + b = 2at + b

t = 1 2

2
t t

Q.20 If I1 =
1 50 100

0
(1 x ) dx and I2 = 

1 50 101

0
(1 x ) dx such that I2 = I1 then  equals to :

; fn I1 =
1 50 100

0
(1 x ) dx r Fkk I2 = 

1 50 101

0
(1 x ) dx bl  i zdkj  gS fd I2 = I1 gS r c cj kcj  gS&

(1) 
5050
5049

(2) 
5050
5051

(3) 
5051
5050

(4) 
5049
5050

Sol. 2

I1 =
1 50 100

0
(1 x ) dx

I2 = 
1 50 50 100

0
(1 x )(1 x ) dx 

= 
1 50 100

0
(1 x ) dx–  

1 50 50 100

0
x (1– x ) dx

I2 = I1 – 
1 49 50 100

0
I II

x – x (1– x )  dx

By using by parts
1 –x50 = t

 x49 dx = 50
–dt

I2 = I1 –

150 101

0

1 1
50 101
– ( – x )x

  
  

   
+ 

50 1011

0

–1 (1– x )
50 101
 
 
  dx

I2 = I1 –0 + 

1 50 101

0
1

5050

( – x )

(– )
 dx



I2 = I1 – 2

5050
I

5051
5050 I2 = I1

I2 = 
5050
5051 I1

 = 5050
5051

Q.21 If a
 and b


are unit vectors, then the greatest value of 3 a b a b  

  
 is_____.

; fn a

 ] r Fkk b


 bdkbZ l fn' k gS r c 3 a b a b  

  
 dk vf/kdr e eku gksxk

Sol. 4

3 | | | |  
  a b a b

3( 2 2cos ) 2 2cos    

6( 1 cos ) 2( 1 cos )    

2 3 cos 2 sin
2 2

 
 

2 2(2 3) (2) 4  

Q.22 Let AD and BC be two vertical poles at A and B respectively on a horizontal ground.
If AD = 8 m, BC = 11 m and AB = 10 m; then the distance (in meters) of a point M on AB from the
point A such that MD2 +MC2 is minimum is ______.
ekuk AD r Fkk BC , d {ksfr t  /kj kr y i j  Øe' k% nks m/okZ/kj  [ kHHks A r Fkk B gSA AD = 8 m, BC = 11 m r Fkk AB = 10 m gS
r c fcUnq A l s AB i j  , d fcUnq m dh nwj h (ehVj  esa) bl  i zdkj  gS fd MD2 + MC2 U; wur e gS] gksxh&

Sol. 5

D
C

8 11

x
10-x x

A M B

K       10



(MD)2 = x2 + 82 = x2 + 64
(MC)2 = (10–x)2 + (11)2 = (x–10)2 + 121
f(x) = (MD)2 + (MC)2 = x2 + 64 + (x–10)2 + (121)
Differentiate
f'(x) = 0
2x + 2 (x–10) = 0
4x =  20  x = 5
f"(x) = 4 > 0
at x = 5 point of minima

Q.23 Let f : R  R be defined as

f(x) = 

5 2

5 2

1 x 0x sin 5x ,
x
0, x 0
1x cos x ,x 0
x

     
  

        

The value of  for which f(0) exists, is _______.
ekuk f : R  R,

f(x) = 

5 2

5 2

1 x 0x sin 5x ,
x
0, x 0
1x cos x ,x 0
x

     
  

        

ds : i  es i fj Hkkf"kr  gS] r c dk eku ft l ds fy ; s f(0) fo| eku gS] gksxk&
Sol. 5

f(x) = 

5 2

5 2

1 x 0x sin 5x ,
x
0, x 0
1x cos x ,x 0
x

     
  

        

f'(x) 

4 3

4 3

1 15x sin – x cos 10x, x 0
x x

0, x 0
1 15x cos x sin 2 x,x 0
x x

          
    

               



3 2 2

3 2 2

1 1 1 120 5 3 10 0

0 0

1 1 1 120 5 3 2 0

x sin – x cos – x cos – xsin , x
x x x x

, x
f "(x)

x cos x sin x sin – xcos ,x
x x x x

        
         

       
  
        

            
       



f" (0+) = f"(0–)
2 = 10   = 5

Q.24 The angle of elevation of the top of a hill from a point on the horizontal plane passing through the
foot of the hill is found to be 45°. After walking a distance of 80 meters towards the top, up a slope
inclined at an angle of 30° to the horizontal plane, the angle of elevation of the top of the hill
becomes 75°. Then the height of the hill (in meters) is ______.
i gkMh ds i kn l s xqt j r s gq; s , d {ksfr t  l er y i j  , d fcUnw l s , d i gkMh ds f' k[ kj  dk muU; u dks.k 45° i k; k t kr k gSA {ksfr t
r y  l s 30° ds dks.k i j  >qds <ky ds mi j  f' k[ kj  dh vksj  80 ehVj  dh nwj h pyus ds i ' pkr ] i gkMh ds f' k[ kj  dk mUu; u dks.k
75° gks t kr k gSA r c i gkMh dh ÅpkbZ (ehVj  esa) gksxh&

Sol. 80

x = 80 cos 30° = 40 3
y = 80 sin 30° = 40
In ADC

tan 45° = 
h

x z
 h = x + z

 h = 40 3 + z ....(i)
In EDF

tan 75° 
h– y

z

2 + 3 = 
40h –

z
 z = 

40
2 3
h–


.....(ii)

Put the value of z from (i)

h – 40 3  = 
40

2 3
h–


x = 

30°

80 y45°

h–y

75°

D

E

A -     x            B  z  C

F

h (1 + 3 ) = 40 (2 3 +3–1)

h (1 + 3 ) = 80 (1+ 3 )
h = 80



Q.25 Set A has m elements and set B has n elements. If the total number of subsets of A is 112 more
than the total number of subsets of B, then the value of m.n is ______.
l eqPp;  A, m vo; o j [ kr s gS r Fkk l eqPp B ] n vo; o j [ kr s gSA ; fn A ds mi l eqP; ksa dh dqy l a[ ; k 112 gS t ks B ds mi l eqP; ksa
dh dqy l a[ ; k l s vf/kd gS] r c M. N eku gS&

Sol. 28
A & B are two set
No. of subsets of A = 2m

No. of subsets of B = 2n

2m = 2n + 112
2m – 2n = 112
2n (2m–n–1) = 112
2n(2m–n–1) = 24 (23–1)
n = 4 m –n = 3
m –4 = 3  m = 7
m. n = 28




